TIERERERER (FR20FE)
(1) —RIREIRERE GAEHE  ThET)
BIEE% - 1, 000[pg-TEQ/kg]

NO. BRE MR RERH (oe-TEQ. kel
1 BEFHKAE H20.10.10 0.33
2 LI NE H20.10.10 0.15
3 SIRES RN E H20.10.10 0.066
4 RIEZHAE H20.10.10 0.034
5 ERFKIG H21.1.8 25
6 FEPER H21.1.8 1.2
7|)Il#TH A ERHhist N 35 H21.1.8 5.0
8 REFEPER H21.1.8 1.1
9 LR/INER H21.1.8 0.96

10 AR ZTHRAE H20.12.15 5.0

=k ERFINE H20.12.15 0.89

12 SN H20.12.15 0.053

13 FARFEREE H20.8.25 2.6

14|4TH™ HBTIAAE H20.8.25 12

15 hEEMNtA— H20.8.29 14

16 EXFRER H20.10.2 8.4

17 TEEfkith H20.10.2 13

18 RENE H20.10.2 26

19 Mt H20.10.3 16

20 AR EZEANBEDROGEFE H20.10.2 23

21 EE A REE H20.10.2 34

22 LR INFRR H20.10.2 18

23 LHHBAE H20.10.2 25

24 =7 B H20.10.2 5.8

25 ip g Fh AR H20.10.2 41

26 EREESE — R FER H20.11.27 0.97

27 EREEPE A H20.11.27 0.028

28|BREETH AR /NFERL H20.11.27 1.2

29 = e /N H20.11.27 3.4

30 EFINER H20.11.27 0.076

31 BERNER H20.10.2 0.071

32 e FFH/NFR H20.10.2 1.1

33 ZHr BINER H20.10.2 5.6

34 PR EE — VR H20.10.2 0.047

35 ERTEREAH neh.r.28 5o

36 A& Eg?ﬁg g?
FH o e H20.7.28 18

37 A=Yt 5— H21.1.19 17

H20.7.28 19
38 FHAE H21.1.19 11




iﬁ &5 ol EHE%E%
NO. A #E A [oe-TEQ ke
N H20.7.28 24
39 SHRE N E H211.19 23
N H20.7.28 20
40 NFRE H21.1.19 23
— . N H20.7.28 8.6
41| FHEH BHANHLAE H21119 8.0
PN H20.7.28 9.3
42 BfTE N E H21.1.19 8.7
N N H20.7.28 53
43 tEAR(TEKS) H21119 76
44 NN H20.7.25 6.0
45 POAEFRE R H20.7.25 0.78
46 JtEAE N E H20.7.25 3.1
47 =[E=T B REHE H20.7.25 7.1
A8|EAEET™H BARTHIRE EEK H20.7.25 34
49 RirE REEE H20.7.25 5.8
50 RrBT— T B 'RE EE H20.7.25 3.3
51 KATE = IR E HEE H20.7.25 6.1
52 KAGRLE H20.7.25 4.1
53| AET BAINER H20.7.24 0.48
54|dt AT AP INERR H20.11.5 3.6
55| — sy BREALNE H20.10.17 1.6
56— BMAO5U->FIL5 H20.10.17 4.7
57|, — a0\ REE H20.8.21 12
5g| R ATEA RAE H20.8.21 18
59 BErEhEA H20.7.29 23
60 By &h A REE H20.7.29 0.62
61 (Bh) Egy N E % H21.2.4 24
62 2R H21.2.4 0.18
(K] - LEHE/NER H21.2.4 4.6
oa| PCPET 2l e H212.4 3.0
65 FER /N H21.2.4 2.3
66 RABEKRBE H21.2.4 40
67| = LU ET EREE—1NE H20.8.4 0.11
68 . E I FZERR H20.8.8 0.28
\
69 LSO TREER H20.8.8 0.92
(2) RERREDIKRINERE GAEHE 1])
EHE% - 1, 000[pe-TEQ/ke]
[0S b o . REHER
NO. B B R REH loe-TEQ/ke]
1 HAMAETEHE—HMREAE H20.9.1 6.5
2 A AR H20.9.1 1.4
3| = oy AR/ NFR H20.9.1 1.3
4|~ STRIGAZE 7R = 88 5R A H20.9.1 11
5 IR H20.9.1 0.051
6 FK =R H20.9.1 34




